T
=
N

Efficiency vs P,

eficiency vs p

0.8f
0.6]
0.4

0.2

.................................................

| b SR

.........

Ratio

q-_...'..'.!.'.'.“.';.

.........

=0.02r

fake+duplicates vs p_ |

T

Take+dauplicates rate vs p

0.2f+

I=---eeeee- R AABREEEEEEED T RS EREEE =

T
T

37 S S R e 2

Ratio

original_step ar-phasel-| wgeom
pixelCPETemplate_step2_ttbar-phasel-newgeom
pixel CPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom

pixel CPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test

[%2]

§.018;—
() n
9.016F
‘0 o
.014F
[J] r
0.012F

0.01
0.008F

0.006f---

0.004F

0.002F--

................................................

Ratio

Efficiency vs ¢

s-0.01g

= 0.8¢

[
> o
@ 0.7F-

fake+duplicates ra

0.2F--

0.6F -
0.5F-

0.4F--

......................

......................

Ratio

=S 0.5::




	Contents
	Page 1


